14}

(2) FRERERR
D =B LB (SO,: ERfE)

TEED | BT HER BB 00d] BEEEEDER
5 | A E 0.1 ppm%Zitd o.0_4ppm’& 18 | BFESIE | pomZEAT-H ROEEMIZ&kBH
S hlFE TifE | A7-FFEE | BA-B8H | E © MD2% |H2BLLEES]| FHIEH 0.04ppm
TETAT BIER &R BEE%] & M EEDEE | LEDEIE | BElE BRoMiE | LI=CEnBE #BZ1-8%
EINDR 5

= =355 ppm | BERE| % =] % ppm ppm -8 B
EEEESK 97 * 363 8662 0.002 0 0.0 0 0.0 0.035 0.004 i 0
B g 97 £ 359 8607 0.001 0 0.0 0 0.0 0.028 0.004 3 0

AT
R R 2R 97 * 358 8581 0.003 0 0.0 0 0.0 0.077 0.007 i 0
EEFREHR 97 £ 357 8536 0.002 0 0.0 0 0.0 0.041 0.005 i3 0
RKEBRINER 97-2 £ 350 8423 0.001 0 0.0 0 0.0 0.018 0.004 i3 0
HR™T | BRMIKEELE 97-2 [i:] 363 8639 0.002 0 0.0 0 0.0 0.026 0.005 i 0
HMEAREE 97-2 #ET 363 8657 0.003 0 0.0 0 0.0 0.029 0.007 i 0
EERET | EE <YL 42— 100 £ 320 8256 0.003 0 0.0 0 0.0 0.069 0.014 i3 0
BERERT 100 % 359 8644 0.001 0 0.0 0 0.0 0.080 0.005 i3 0

HE™
RN 100 * 363 8694 0.002 0 0.0 0 0.0 0.040 0.005 i 0
T HimeE 100 * 360 8673 0.003 0 0.0 0 0.0 0.062 0.006 i3 0
EMET| FEESHR 97 £ 363 8667 0.001 0 0.0 0 0.0 0.031 0.003 i 0
R W EHEB 100 [i5] 357 8588 0.002 0 0.0 0 0.0 0.080 0.006 i 0
BEEEE 52— 100 P S 359 8674 0.003 0 0.0 0 0.0 0.037 0.007 i 0
BABEMEAT 100 #ET 364 8723 0.003 0 0.0 0 0.0 0.033 0.006 i3 0

=1
prat=ali 100 [i:] 363 8732 0.002 0 0.0 0 0.0 0.056 0.005 i 0
EA=FIN=F:135] 100 * 359 8664 0.001 0 0.0 0 0.0 0.033 0.004 i3 0
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@ —BitEE. i

LERERUERE{EY (NO, NO, NO+NO,: FRifE)

— L2 %R (NO) ZHIEER (NOy) Z2HMIEM(NO+NO,)
TERREEA| 1HFHIED| B FHEL] B FHEN 98%fiE
B ES A |8 E 1R | BTENE|F OH (A E 185R8  |0.2ppm%iB(0.1ppmEL L 0.06ppm% [0.04ppmil H BFEHfE | HMEICLD | & # [B % 18R | BEHIE FEHE
A AER Jizbad=$:1 FHlE| & » ) EHE| fE O | Z-FREE|0.200mIA T A =B [0.06ppmU T D B HEA TE| & o »
HEIDEH BIEEH| B M REiE| 98%fE |RMIEBE%K|H M REE |LTOEE| OB | LT0EIE| OBHE | 98%fE | 006ppm%E | BIEHL | H RE(E| 98%fE |NO2 . /(NO+NO2)
LZDEE Z0EE Bx-A%

B B¥fE [ ppm ppm ppm B BfE [ ppm ppm B[ % |BfE ) % (B % |B| % ppm B B B¥fE | ppm ppm ppm %
TR ESK 97 % 363 8663 | 0.000 | 0.015 0.002 363 8663 | 0.002 0.024 o [0o|l o |oojo| 00 |0]| 00 0.005 0 363 8663 [ 0003 | 0.031 0.007 82.8
B hE 97 * 359 8613 | 0.000 | 0.009 0.002 359 8613 [ 0.002 0.019 0o [oo|l o |oojo| 00 |0]| 00 0.005 0 359 8613 [ 0003 | 0.026 0.006 81.1
w R AT 97 * 345 8367 | 0.001 | 0.038 0.003 345 8367 | 0.006 0.074 0o [oo|l o |oojo| 00 |0]| 00 0014 0 345 8367 [ 0007 | 0079 0015 89.7
EREFRER 97 * 362 8633 | 0.000 | 0.011 0.001 362 8633 | 0.004 0.028 0o [oo|l o |oojo| 00 |0]| 00 0.008 0 362 8633 [ 0004 | 0.030 0.008 94.6
KE BN 97-2 * 336 8058 | 0.003 | 0.039 0.007 336 8058 | 0.007 0.045 0o [oo|l o |oojo| 00 |0]| 00 0013 0 336 8058 [ 0.010 | 0.064 0.016 725
Bl | BRTIIRESE 97-2 \ 354 8478 | 0002 | 0.067 0.007 354 8478 | 0.005 0.029 0o [oo|l o |oojo| 00 |0]| 00 0.009 0 354 8478 | 0006 | 0078 0014 729
HMEAREE 97-2 #T 329 7957 | 0002 | 0048 0.007 329 7957 | 0.008 0.037 0o [oo|l o |oojo| 00 |0]| 00 0017 0 329 7957 | 0010 | 0.064 0.023 78.6
S SRET | REEES<Y A — 100 * 342 8276 | 0001 | 0040 | 0004 342 8276 | 0.006 0.032 0 |oo| o [oo]o]| 00 [0] 00 0.011 0 342 8276 | 0.007 | 0.072 0015 83.3
BRI AT 100 * 331 8022 | 0002 | 0034 [ 0007 331 8022 | 0.006 0.031 0o [oo|l o |oojo| 00 |0]| 00 0014 0 331 8022 [ 0008 | 0.051 0.020 733
i SERINERR 100 % 363 8714 | 0004 | 0.028 0.009 363 8714 | 0.007 0.046 0o [oo|l o |oojo| 00 |0]| 00 0.015 0 363 8714 [ 0011 | 0.056 0.022 64.0
R HEEE 100 ES 360 8660 | 0.003 | 0.106 0015 360 8660 | 0.008 0.040 0o [oo|l o |oojo| 00 |0]| 00 0014 0 360 8660 [ 0010 | 0.131 0.027 735
EREH | FEREBHR 97 * 361 8651 | 0.014 | 0.147 0.035 361 8651 [ 0.009 0.050 0 [oo|l o |oojo| 00 |0]| 00 0.020 0 361 8651 [ 0024 | 0.197 0.052 39.9
;| EHHEHR 100 [l 363 8676 | 0.033 | 0.219 0.074 363 8676 [ 0.019 0.058 0o [oo|l o |oojo| 00 |0]| 00 0.031 0 363 8676 | 0052 | 0.265 0.096 35.9
BEEEE2— 100 * 359 8654 | 0.001 | 0.051 0.004 359 8654 | 0.007 0.046 0o [oo|l o |oojo| 00 |0]| 00 0013 0 359 8654 [ 0008 | 0.095 0017 86.0
AR ERER 100 #T 345 8311 | 0002 | 0.022 0.004 345 8311 | 0.004 0.037 0o [oo|l o |oojo| 00 |0]| 00 0.009 0 345 8311 [ 0006 | 0.045 0012 712
_ BA%R 100 5] 352 8408 | 0002 | 0.073 0.008 352 8408 | 0.011 0.048 0o [0o|l o |oojo| 00 |0]| 00 0.023 0 352 8408 [ 0013 | 0.105 0.031 838
EAw ETHEAHR 100 * 360 8684 | 0009 | 0.073 0.020 360 8684 | 0.012 0.052 0o [0o|l o |oojo| 00 |0]| 00 0.021 0 360 8684 [ 0022 | 0.100 0.038 56.4
AEEEHR 100 [l 342 8268 | 0013 | 0.116 0.028 342 8268 | 0.013 0.056 0o [oo|l o |oojo| 00 |0]| 00 0.025 0 342 8268 [ 0027 | 0.153 0.050 50.4
E3=DN=EC) 100 * 357 8642 | 0006 | 0.058 0015 357 8642 | 0.008 0.041 0o [oo|l o |oojo| 00 |0]| 00 0014 0 357 8642 [ 0014 | 0.084 0.029 580
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B FALFEAF A (Ox: FEFEIE)

RIR10) 1 B5 ] | 810D 1 BFia] BE0 H
BEGHE|RFRIE BREOT {EA 0.06ppm | {EAY 0.12ppm | BREE1EE | 210
SrWES EfSED | *EBA-BH UEtoB% |MiE® | BiE
ilES] BIE R F& Hh s H #|(B B|FHE E BB & BB X o B | FiOE
EIDRXH
= =] ppm =} B R =i =g ppm ppm
EEEESE 97 % 345 4965 0.032 65 322 0 0 0.090 0.046
ERE T B R 97 * 365 5348 0.030 17 58 0 0 0.074 0.041
FERE R PR 97 * 352 5043 0.028 40 172 0 0 0.084 0.040
REBINER 97-2 =F 365 5365 0.029 59 276 0 0 0.089 0.041
HRI™H
HMEAREE 97-2 #T 365 5379 0.027 21 91 0 0 0.079 0.038
SiRET  [EBEOWEVE— 100 =F 365 5361 0.034 70 412 0 0 0.091 0.048
B RERT 100 * 365 5320 0.029 60 248 0 0 0.091 0.043
HEmH
SHENER 100 =F 365 5433 0.033 53 282 0 0 0.085 0.047
Ry MHEE 100 PS 362 5352 0.028 37 175 0 0 0.086 0.043
AR 100 [i5] 365 5431 0.033 81 416 0 0 0.091 0.047
=0
cA=PIN=E:35] 100 *x 365 5387 0.025 24 128 0 0 0.081 0.039
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@ FiEFIKYE (SPM: R fiE)

TERITE AN EEZSTEFA BEBEM 010 | BEEEDORE
7 o A% 0.20mg/m3%#8 [ 0.10mg/m3% | 18R | BEHIE [ mg/m3Z A 1=H BIEHEIZ &5 B
SrhES Tl | Z-ERE BA-BH |E 0| D2% MN2B U LES | FE 0.10mg/m3
TETA BIE R AR (BT B M EEDEE LZTDEE | REE| B E| LIZEDEE A2 -B#%
EIDRH

H B | mg/m3 | B FE % B % mg/m3 | mg/m3 58 B
R R 1T 97 x 351 8565 0.022 0 0.0 0 0.0 0.161 0.048 i 0

ER™
FEREH =R 97 =F 362 8691 0.012 0 0.0 0 0.0 0.132 0.034 i 0
BT BRI RELE 97-2 [z 365 8742 0.022 0 0.0 0 0.0 0.183 0.053 i 0
SR [EBEOKYEVS— 100 = 358 8663 0.022 0 0.0 0 0.0 0.106 0.049 i 0
HERER 100 = 360 8689 0.019 0 0.0 0 0.0 0.124 0.046 = 0

BEH
HRINERR 100 = 363 8702 0.022 0 0.0 0 0.0 0.124 0.046 = 0
I BEEE 100 * 363 8717 0.023 0 0.0 0 00 | o0.140 0.048 i3 0
SEfE T FERBEHR 97 * 365 8749 0.032 0 0.0 0 0.0 0.188 0.055 = 0
I B BEER 100 [z} 365 8713 0.037 0 0.0 0 00 | 0.166 0.063 i3 0
HEEEE 42— 100 *x 358 8675 0.028 0 0.0 0 0.0 0.190 0.066 i 0
BHRBEWAERT 100 #T 365 8738 0.015 0 0.0 0 0.0 0.088 0.035 i 0
BAZERE 100 iz 365 8732 0.027 0 0.0 0 0.0 0.194 0.057 i 0

=G
ETREBHR 100 * 361 8695 0.025 0 0.0 0 0.0 0.126 0.051 = 0
mEEBEEE 100 5] 360 8695 | 0.027 0 0.0 0 00 | 0.158 0.060 i3 0
£HMEHR 100 *x 354 8609 0.020 0 0.0 0 0.0 0.161 0.044 Fiii 0
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© —F&E B3R (CO: FRMfE)

— SHEED | BEBES BEBED 10 | BEEEDRE| 1BEEN
5 % AE 20ppm% 10ppm% 1808 | BEHE | ppmZEB A8 | BEEMHIZES 8 | 30ppmil EE
e ES TigfE | BAEH | BA-BE | E © | D2% | A28 LLLES | FEHEH 10ppm| #Hof=-C&
TETHf BIE R kil  [BIEBZ &M EZDEE | LZDEE | BEE| B E | LEECEOFE | 28Z2-B% | 1H28#%
EIDRH

B 35| ppm [m] % B % ppm ppm 5 E =] =]
R ERBEEER 97 = 360 8625 0.4 0 0.0 0 0.0 2.2 0.7 Fii 0 0
T M EHR 100 ] 365 8738 05 0 0.0 0 0.0 3.0 0.9 Fii 0 0
aTHEERHRE 100 E3 357 8616 0.6 0 0.0 0 0.0 32 14 i 0 0
=5 EEBEER 100 ] 358 8661 05 0 0.0 0 0.0 1.9 0.7 i 0 0
==PIN=E: 35! 100 * 359 8678 0.4 0 0.0 0 0.0 3.0 0.7 i 0 0
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© JEAR> FAbIKEH (NMHC : FER{E)

B 6~9MF | 6~9R 6 ~ 9B 6~ O SFE B T T 1B| 6 ~ O B I8] F 1B

Re B TE | 2B | B F | SHEHMF HE |A 0.20ppmCEEZ | A 0.31ppmCEREZ 1=

HET# HBIE R FH& Hhig B fE TyiE| B | SsE| BEE|BHEZTOEE|BHEZDEE

A /\

FIDES B ] ppmC ppmC H ppmC ppmC H % H %
R HERE MR BRRRT 97 * 6491 0.08 0.08 270 0.25 0.02 3 1.1 0 0.0
BHE™ REBINER 97-2 = 8528 0.04 0.05 343 0.24 0.00 1 0.3 0 0.0
ERE T FERE BB 97 LE3 8643 0.18 0.23 361 0.84 0.06 192 53.2 37 10.2
Ry MW BEHR 100 [i] 8526 0.18 0.22 356 1.11 0.00 148 416 75 21.1
BTEEBHRE 100 LE3 8620 0.19 0.19 357 0.76 0.08 100 28.0 8 22
=0 EEBEER 100 [i5] 8444 0.15 0.16 349 0.43 0.00 74 21.2 7 20
EA=RIN=E: 35 100 * 8588 0.15 0.15 356 0.78 0.03 11 3.1 1 0.3
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@D A5 BRUERIEKE (CH,, THC: FERAHE)

A5 (CH,) 2 RIL/K% (THC)

p: 6~0Rf | 6~0RF| 6 ~ 9 B | =F 6~98 [ 6~98:| 6 ~ 9 BF

SrWE S EHE | I2HFS] B F 3 BF fA EHE | I2HFS| B F 3 B

T ET 44 BIE B FEithig | BF fE EHE|IB ¥ B {E = EHEIR #® I {E
FIDXH o lB| &IEE o B RIEE
B¥fE | ppmC | ppmC =i ppmC | ppmC | B¥fE | ppmC | ppmC = ppmC | ppmC
R HE R R 97 * 6491 | 1.87 1.89 270 216 | 1.75 | 6491 1.95 1.96 270 239 | 1.80
Hrm | KEBSNER 97-2 =* 8528 | 1.84 1.84 343 197 | 1.72 | 8528 | 1.88 1.89 343 2.11 1.73
ERET | FHERBHERD 97 =* 8643 | 2.01 2.02 361 227 | 188 | 8643 | 2.19 2.25 361 292 | 1.99
R B R 100 5] 8526 | 1.94 2.05 356 264 | 172 | 8526 | 2.12 2.28 356 334 | 1.77
ESTHEEEHR 100 =* 8620 | 1.83 1.89 357 217 | 164 | 8620 | 2.02 2.07 357 286 | 1.76
BT | EEBEEHEE 100 ] 8444 | 187 1.92 349 216 | 166 | 8444 | 202 2.08 349 258 | 1.75
==PIN=F:35] 100 * 8588 | 1.89 1.93 356 218 | 169 | 8588 | 2.03 2.07 356 279 | 1.79






